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QUESTION: 45
Which statement correctly defines how Cisco Meraki devices behave should they not be
able to contact the Meraki Cloud server?

A. The devices may be re-initiated into a backup mode if an administrator manually
intervenes using a direct, local connection.

B. The network devices attempt to establish a connection to a locally hosted database
server that has been configured for high availability.

C. The network stops passing traffic across all devices and then interlaces including any
connected non-Cisco Meraki devices

D. The network devices continue to function normally (traffic flows at full line rate), but
management and configuration functions are interrupted

Answer: D

QUESTION: 46
Which are two features of the Cisco 1100 or 4000 series ISR router product lines?
(Choose two.)

A. Limited connectivity options

B. Advanced LTE backup connectivity offering network resiliency for business
continuity

C. 50 to 200 Mbps WAN connections with rich branch services - the same services found
at HQ

D. Cloud-based hardware management

E. Unified communications with series build apps for Cisco TDM

Answer: B, E

QUESTION: 47
Which are two major security challenges that occur due to proliferation of users, devices,
and applications at the branch? (Choose two.)



A. Increased complexity for mitigation

B. Increased complexity for mobility

C. Increased threat surface area

D. Increase in threat naivety

E. Increased complexity in Omni-channel experience

Answer: D, E

QUESTION: 48
What are two ways that MX security appliances achieve automatic failover and high
availability? (Choose two.)

A. Warm spare (using VRRP)

B. Always on (availability groups)

C. Redundant gateways (using HSRP)

D. Survivable Remote Site Technology (SRST)
E. Dual redundant uplink support (multiple 1SPs)

Answer: A, D

QUESTION: 49
Which two functions are provided by Scale out / compute intensive applications C4200
and C125 M5? (Choose two.)

A. Low-frequency trading transactions
B. Distributed databases

C. AI/ML with dense GPUs

D. Microprocessor design

E. Cloud computing

Answer: B, E

QUESTION: 50
What is the key architectural component that allows Cisco Meraki's datacenters to be
fully HIPAA and PCI compliant?



A. Layer 7 application fingerprinting

B. Out-of-band control plane

C. Non-existent command line interface
D. Controller and server-free design

Answer: B
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